CALCULATION EXAMPLES WPD 1% YEAR BACHELOR (BA1)

(credits taken x 18) / 60
ALWAYS MAXIMUM 18 WPD

PROGRAMME

EXEMPTIONS?

MAX ALLOWED WPD

FAILED COURSES

YOUR WPD

TOLERATED?

BA1 60 credits

(60x18) / 60 = 18

A 9/20 for a 6 credit course
A 9/20 for a 6 credit course

(1x6) + (1x6) = 12

1 point deficit for 6 credits and
1 for 6 credits

Tolerated
Because 12 is lower than 18

BA1 60 credits

Exemption for 6 credits
Taken: 54 of 60 credits

(54x18) / 60 = 16,2

Because there were 54 credits taken

An 8/20 for a 6 credit course
A 9/20 for a 3 credit course

(2x6) + (1x3) = 15

2 points deficit for 6 credits and
1 for 3 credits

Tolerated
Because 15 is kleiner dan 16,2

BA1 60 credits

Exemption for 36 credits
Taken: 24 of 60 credits

(24x18) /60 = 7,2

Because there were 24 credits taken

An 8/20 for a 6 credit course

(2X6) = 12

2 points deficit for 6 credits

NOT tolerated
Because 12 is higher than 7,2

BA1 63 credits

(60x18) / 60 = 18

For BA1 we ALWAYS count 60 CREDITS, even
if your programme has more/less credits.

An 8/20 for a 6 credit course
A 9/20 for a 6 credit course

(2x6) + (1x6) = 18

2 points deficit for 6 credits and
1 for 6 credits.

Tolerated
Because 18 is equal to 18

BA1 57 credits

Exemption for 54 credits
Taken: 3 of 57 credits

(60-54)x 18 /60 = 1,8

For BA1 we ALWAYS count 60 CREDITS, even
if your programme has more/less credits.

A 9/20 for a 3 credit course

(1x3)=3

1 point deficit for 3credits

NOT tolerated
Because 3 is higher than 1,8




